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Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions: 1×5=5

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) The ionisation energy of lithium is 5·39 ev.–Explain.

ø˘øÔ˚˛±À˜ı˛ ’±˚˛Ú±˚˛Ú ˙øMê 5·39 ev ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(b) Give an example of acid-base indicator.

¤fl¬øÈ¬ ’•ß-é¬±ı˛ ¸”‰¬Àfl¬ı˛ Ú±˜ Œ˘À‡±/

(c) What is called racemic mixture?

Œı˛ø¸ø˜fl¬ ø˜|Ì fl¬±Àfl¬ ıÀ˘∑

(d) Explaing why (CH3)3 CCl does not undergo SN2 reation.

(CH3)3 CCl, SN2 øıøSê˚˛±˚˛ ’—˙·Ë˝Ì fl¬Àı˛ Ú± Œfl¬Ú, Ó¬± ı…±‡…± fl¬Àı˛±/

(e) What is tautomerism? Give an example.

È¬ÀÈ¬±˜±øı˛Ê˜ fl¬œ∑ ¤fl¬øÈ¬ Î¬◊±˝ı˛Ì ±›/

(f) What is the oxidation number of ‘S’ in Na2S2O8?

Na2S2O8 Œ˚ÃÀ· ‘S’-¤ı˛ Ê±ı˛Ì ¸—‡…± fl¬Ó¬∑

(g) State the position of Fe in periodic table.

√¬Û˚«±˚˛¸±ı˛ÌœÀÓ¬ Fe-¤ı˛ ’ı¶ö±Ú ıÀ˘±/

(h) Which is more acidic and why? HCOOH or CH3COOH.

√HCOOH › CH3COOH-¤ı˛ ˜ÀÒ… Œfl¬±ÚøÈ¬ Œıø˙ ’±ø•°fl¬ ¤ı— Œfl¬Ú∑
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2. Answer any two questions: 5×2=10

Œ˚ Œfl¬±ÀÚ± ≈øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) p-Nitrophenol is more acidic than m-nitrophenol.— Explain. What is meant by

electronegativity and ionisation potential. Compare ionisation potential of Li and K atom.

2+(2+1)=5

m-Ú±˝◊ÀÈ¬™±ÀÙ¬Ú˘ ¤ı— p-Ú±˝◊ÀÈ¬™±ÀÙ¬Ú˘ ’øÒfl¬ ’±ø•°fl¬/ñı…±‡…± fl¬Àı˛±/ Ó¬øh¬» ŸÌ±Rfl¬Ó¬± › ’±˚˛Ú±˚˛Ú øıˆ¬ı
ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ Li ¤ı— K ¬Ûı˛±˜±Ì≈ı˛ ’±˚˛Ú±˚˛Ú øıˆ¬ı-¤ı˛ Ó≈¬˘Ú± fl¬Àı˛±/

(b) Balance the following reaction by ion-electron method.

’±˚˛Ú ˝◊À˘fl¬È¬™Ú ¬ÛX¬øÓ¬ÀÓ¬ ÚœÀ‰¬ı˛ øıøSê˚˛±øÈ¬ı˛ ¸˜Ó¬± øıÒ±Ú fl¬Àı˛±/

Zn + NaNO3 + NaOH  NaZnO2 + NH3 + H2O.

Write the structure of meso-tartaric acid and state why it is not optically active? 3+(1+1)=5

Œ˜À¸±È¬±ı˛È¬±øı˛fl¬ ’…±ø¸ÀÎ¬ı˛ ·Í¬Ú Œ˘À‡± ¤ı— ¤øÈ¬ Œfl¬Ú ’±À˘±fl¬ ¸øSê˚˛ Ú˚˛, Ó¬± ıÀ˘±/

(c) Write the condition for an alkene to exhibit geometrical isomer. Explain with

example. Water act as an acid and a base.— Explain. 1+2+2=5

¤fl¬øÈ¬ ’…±˘øfl¬ÀÚı˛ Ê…±ø˜øÓ¬fl¬ ¸˜±ı˚˛ıÓ¬± √õ∂˙«ÀÚı˛ ˙Ó«¬ fl¬œ∑ Î¬◊±˝ı˛Ì øÀ˚˛ Œı±Á¬±›/ Ê˘ ’•° › é¬±ı˛
Î¬◊ˆ¬˚˛ Ò˜«˝◊ Œ‡±˚˛/ñı…±‡…± fl¬Àı˛±/

(d) Write short note (any two): 2×2½=5

(i) Pauli Exclusion Principle

¬¬Û±Î¬◊ø˘ı˛ ’¬ÛıÊ«Ú ÚœøÓ¬

(ii) Buffer Solution

¬ı±Ù¬±ı˛ ^ıÌ

(iii) Ozonolysis

›ÀÊ±ÀÚ±ø˘ø¸¸

(iv) Carbocation and Carbonion

¬fl¬±Àı«±fl¬…±È¬±˚˛Ú › fl¬±ı«±Ú±˚˛Ú

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) (i) What is peroxide effect? HBr is added to propene in presence of H2O2 in sunlight.

Write down the reaction with mechanism.

¬Û±ı˛’'±˝◊Î¬ √õ∂ˆ¬±ı fl¬œ∑ Œ√õ∂±ø¬ÛÀÚı˛ ¸Àº ¸”˚«±À˘±fl¬ H2O2-¤ı˛ Î¬◊¬Ûø¶öøÓ¬ÀÓ¬ HBr-¤ı˛ ¸Àº øıSê˚˛±øÈ¬
øSê˚˛±Àfl¬Ã˙˘¸˝ Œ˘À‡±/
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(ii) Derive Henderson Equation. State with reason which indicator is use for the titration

of CH3COOH and NaOH. (1+1+3)+(2+3)=10

Œ˝`¬±ı˛¸Ú ¸˜œfl¬ı˛ÌøÈ¬ √õ∂øÓ¬á¬± fl¬Àı˛±/  CH3COOH ¤ı— NaOH–¤ı˛ È¬™±˝◊ÀÈ¬™˙ÀÚ fl¬œ ¸”‰¬fl¬ ı…ı˝±ı˛
fl¬ı˛Àı fl¬±ı˛Ì¸˝ ıÀ˘±/

(b) (i) What is Grignard reagent? How it can be synthesized? How can you synthesize a

Carboxylic acid with the help of Grignard reagent?

ø·Ë·Ú±Î«¬ øıfl¬±ı˛fl¬ fl¬œ∑ ˝◊˝± fl¬œˆ¬±Àı √õ∂dÓ¬ fl¬ı˛Àı∑ ø·Ë·Ú±Î«¬ øıfl¬±ı˛Àfl¬ı˛ ¸±˝±À˚… ¤fl¬øÈ¬ fl¬±Àı±«ø'ø˘fl¬¬
’…±ø¸Î¬ fl¬œˆ¬±Àı √õ∂dÓ¬ fl¬ı˛Àı∑

(ii) Deduce an expression for the energy of an electron rotating in a circular orbit of

H-atom using Bohr model. (1+2+2)+5=10

˝±˝◊ÀE±ÀÊÚ ¬Ûı˛˜±Ì≈ı˛ ı‘M±fl¬±ı˛ fl¬é¬¬ÛÀÔ ‚”Ì«±˚˛˜±Ú ¤fl¬øÈ¬ ˝◊À˘fl¬È¬™ÀÚı˛ ˙øMêı˛ ¬Ûøı˛˜±Ì ¸•§ø˘Ó¬
ı˛±ø˙˜±˘±øÈ¬ ëëŒı±ı˛íí ˜ÀÎ¬˘ ’Ú≈̊ ±˚˛œ øÚÌ«˚˛ fl¬Àı˛±/
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